			TruGreen			
		Richland Hills, TX				
			HUB:		No	
Item	Qty		Unit	Е	xtended	
Item 1: 1895 Courthouse						
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	81.00	\$	162.00	
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	81.00	\$	243.00	
AUTUMN LAWN TREATMENT VISIT	2	\$	81.00	\$	162.00	
GRASSY WEED PREVENTION VISIT	2	\$	81.00	\$	162.00	
TREE/SHRUB ROOT ZONE FERTILIZATION VISIT	1	\$	98.00	\$	98.00	
TREE/SHRUB INSECT/DISEASE CONTROL VISIT	4	\$	98.00	\$	392.00	
PLANT BED WEED CONTROL VISIT	1	\$	71.00	\$	71.00	
HORTICULTURAL OIL TREATMENT VISIT	1	\$	98.00	\$	98.00	
Item Total		\$			1,388.00	
Item 2: Administration Building						
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	65.00	\$	130.00	
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	65.00	\$	195.00	
AUTUMN LAWN TREATMENT VISIT	2	\$	65.00	\$	130.00	
GRASSY WEED PREVENTION VISIT	2	\$	65.00	\$	130.00	
TREE/SHRUB ROOT ZONE FERTILIZATION VISIT	2	\$	64.00	\$	128.00	
PLANT BED WEED CONTROL VISIT	4	\$	71.00	\$	284.00	

		TruGreen			
		Richland Hills, TX			s, TX
			HUB:		No
Item	Qty		Unit	Е	xtended
Item 2: Administration Building					
HORTICULTURAL OIL TREATMENT VISIT	1	\$	64.00	\$	64.00
FUNGICIDE LAWN TREATMENT VISIT	2	\$	99.00	\$	198.00
Item Total		\$			1,259.00
Item 3: Alliance for Children					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	65.00	\$	130.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	65.00	\$	195.00
AUTUMN LAWN TREATMENT VISIT	2	\$	65.00	\$	130.00
GRASSY WEED PREVENTION VISIT	2	\$	65.00	\$	130.00
TREE/SHRUB ROOT ZONE FERTILIZATION VISIT	2	\$	110.00	\$	220.00
TREE/SHRUB INSECT/DISEASE CONTROL VISIT	3	\$	110.00	\$	330.00
PLANT BED WEED CONTROL VISIT	5	\$	130.00	\$	650.00
FIRE ANT CONTROL VISIT	1	\$	200.00	\$	200.00
Item Total		\$			1,985.00
Item 4: Andersen Building		-			
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	114.00	\$	228.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	114.00	\$	342.00

		TruGreen			
		Richland Hills, TX			s, TX
			HUB:		No
Item	Qty		Unit	E	xtended
Item 4: Andersen Building					
AUTUMN LAWN TREATMENT VISIT	2	\$	114.00	\$	228.00
PLANT BED WEED CONTROL VISIT	2	\$	114.00	\$	228.00
Item Total		\$			1,026.00
Item 5: Criminal Justice Building					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	47.00	\$	94.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	47.00	\$	141.00
AUTUMN LAWN TREATMENT VISIT	2	\$	47.00	\$	94.00
PLANT BED WEED CONTROL VISIT	1	\$	63.00	\$	63.00
Item Total		\$			392.00
Item 6: Elections Building					
PLANT BED WEED CONTROL VISIT	7	\$	159.00	\$	1,113.00
Item Total		\$			1,113.00
Item 7: Green Bay Jail					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	205.00	\$	410.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	205.00	\$	615.00
AUTUMN LAWN TREATMENT VISIT	2	\$	205.00	\$	410.00

		TruGreen			n
			Richland	l Hill	s, TX
			HUB:		No
Item	Qty		Unit	Е	xtended
Item 7: Green Bay Jail					
GRASSY WEED PREVENTION VISIT	2	\$	205.00	\$	410.00
Item Total		\$			1,845.00
Item 8: Juvenile Detention Center		•			
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	810.00	\$	1,620.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	810.00	\$	2,430.00
AUTUMN LAWN TREATMENT VISIT	2	\$	810.00	\$	1,620.00
GRASSY WEED PREVENTION VISIT	2	\$	810.00	\$	1,620.00
PLANT BED WEED CONTROL VISIT	7	\$	150.00	\$	1,050.00
Item Total	-	\$		=	8,340.00
Item 9: Mansfield Subcourthouse					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	298.00	\$	596.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	298.00	\$	894.00
AUTUMN LAWN TREATMENT VISIT	2	\$	298.00	\$	596.00
GRASSY WEED PREVENTION VISIT	4	\$	298.00	\$	1,192.00
PLANT BED WEED CONTROL VISIT	2	\$	110.00	\$	220.00

		TruGreen			
			Richland	l Hill	s, TX
			HUB:		No
Item	Qty		Unit	Е	xtended
Item 9: Mansfield Subcourthouse					
FIRE ANT CONTROL VISIT	1	\$	740.00	\$	740.00
Item Total		\$			4,238.00
Item 10: Medical Examiner's Facility					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	48.00	\$	96.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	48.00	\$	144.00
AUTUMN LAWN TREATMENT VISIT	2	\$	48.00	\$	96.00
GRASSY WEED PREVENTION VISIT	2	\$	48.00	\$	96.00
Item Total		\$			1,172.00
Item 11: Miller Ave Administration Build	ing				
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	230.00	\$	460.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	230.00	\$	690.00
AUTUMN LAWN TREATMENT VISIT	2	\$	230.00	\$	460.00
GRASSY WEED PREVENTION VISIT	2	\$	230.00	\$	460.00
Item Total		\$			2,070.00
Item 12: North Patrol					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	149.00	\$	298.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	149.00	\$	447.00

		TruGreen			
		Richland Hills, TX			s, TX
			HUB:		No
Item	Qty		Unit	Е	xtended
Item 12: North Patrol					
AUTUMN LAWN TREATMENT VISIT	2	\$	149.00	\$	298.00
GRASSY WEED PREVENTION VISIT	2	\$	149.00	\$	298.00
TREE/SHRUB ROOT ZONE FERTILIZATION VISIT	1	\$	50.00	\$	50.00
TREE/SHRUB INSECT/DISEASE CONTROL VISIT	4	\$	50.00	\$	200.00
PLANT BED WEED CONTROL VISIT	6	\$	50.00	\$	300.00
Item Total		\$			1,891.00
Item 13: Northeast Subcourthouse					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	155.00	\$	310.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	155.00	\$	465.00
AUTUMN LAWN TREATMENT VISIT	2	\$	155.00	\$	310.00
GRASSY WEED PREVENTION VISIT	2	\$	155.00	\$	310.00
TREE/SHRUB ROOT ZONE FERTILIZATION VISIT	2	\$	400.00	\$	800.00
TREE/SHRUB INSECT/DISEASE CONTROL VISIT	3	\$	400.00	\$	1,200.00
PLANT BED WEED CONTROL VISIT	5	\$	420.00	\$	2,100.00
FIRE ANT CONTROL VISIT	1	\$	250.00	\$	250.00
Item Total		\$			5,745.00

		TruGreen			n
		Richland Hills, TX			s, TX
			HUB:		No
Item	Qty		Unit	Е	xtended
Item 14: Northwest Subcourthouse					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	115.00	\$	230.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	115.00	\$	345.00
AUTUMN LAWN TREATMENT VISIT	2	\$	115.00	\$	230.00
GRASSY WEED PREVENTION VISIT	2	\$	115.00	\$	230.00
TREE/SHRUB ROOT ZONE FERTILIZATION VISIT	1	\$	510.00	\$	510.00
TREE/SHRUB INSECT/DISEASE CONTROL VISIT	4	\$	510.00	\$	2,040.00
PLANT BED WEED CONTROL VISIT	6	\$	373.00	\$	2,238.00
Item Total	-	\$		=	5,823.00
Item 15: Northwest Annex					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	85.00	\$	170.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	85.00	\$	255.00
AUTUMN LAWN TREATMENT VISIT	2	\$	85.00	\$	170.00
GRASSY WEED PREVENTION VISIT	2	\$	85.00	\$	170.00
TREE/SHRUB ROOT ZONE FERTILIZATION VISIT	1	\$	105.00	\$	105.00
TREE/SHRUB INSECT/DISEASE CONTROL VISIT	4	\$	105.00	\$	420.00

			TruGreen			
			Richland	l Hill	s, TX	
			HUB:		No	
Item	Qty		Unit	Е	xtended	
Item 15: Northwest Annex						
PLANT BED WEED CONTROL VISIT	6	\$	105.00	\$	630.00	
Item Total		\$			1,920.00	
Item 16: Plaza Building						
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	200.00	\$	400.00	
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	200.00	\$	600.00	
AUTUMN LAWN TREATMENT VISIT	2	\$	200.00	\$	400.00	
GRASSY WEED PREVENTION VISIT	2	\$	200.00	\$	400.00	
Item Total		\$			1,800.00	
Item 17: Precinct #2						
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	261.00	\$	522.00	
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	261.00	\$	783.00	
AUTUMN LAWN TREATMENT VISIT	2	\$	261.00	\$	522.00	
GRASSY WEED PREVENTION VISIT	2	\$	261.00	\$	522.00	
FIRE ANT CONTROL VISIT	1	\$	898.00	\$	898.00	
Item Total		\$			3,247.00	

		TruGreen			
			Richland	Hill	s, TX
			HUB:		No
Item	Qty		Unit	Е	xtended
Item 18: Premier Annex/Fire Marshal					
PLANT BED WEED CONTROL VISIT	7	\$	159.00	\$	1,113.00
Item Total		\$			1,113.00
Item 19: Southeast Subcourthouse					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	115.00	\$	230.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	115.00	\$	345.00
AUTUMN LAWN TREATMENT VISIT	2	\$	115.00	\$	230.00
GRASSY WEED PREVENTION VISIT	4	\$	115.00	\$	460.00
PLANT BED WEED CONTROL VISIT	3	\$	305.00	\$	915.00
FIRE ANT CONTROL VISIT	1	\$	315.00	\$	315.00
Item Total		\$			3,608.00
Item 20: Southwest Subcourthouse					
LATE WINTER/EARLY SPRING LAWN TREATMENT VIST	2	\$	489.00	\$	978.00
LATE SPRING/SUMMER LAWN TREATMENT VISIT	3	\$	489.00	\$	1,467.00
AUTUMN LAWN TREATMENT VISIT	2	\$	489.00	\$	978.00
GRASSY WEED PREVENTION VISIT	2	\$	489.00	\$	978.00

		TruGreen			1	
				hland Hills, TX		
		HUB: No			No	
Item	Qty	Unit			Extended	
Item 20: Southwest Subcourthouse						
TREE/SHRUB INSECT/DISEASE CONTROL VISIT	4	\$	129.00	\$	516.00	
PLANT BED WEED CONTROL VISIT	1	\$	260.00	\$	260.00	
Item Total		\$			5,177.00	
Bid Total (All Items)		\$ 55,152.00			55,152.00	